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QUESTION 1

It is possible to have 3 SOAP-based Web services, each with a WSDL definition that has an operation named Update.
Select the correct answer. 

A. True 

B. False 

Correct Answer: A 

 

QUESTION 2

UDDI stands for: Select the correct answer. 

A. Universal Definition, Direction, and Intelligence 

B. Universal Description, Discovery, and Integration 

C. United Discovery, Data, and Interoperability 

D. United Document, Definition, and Interchange 

Correct Answer: B 

 

QUESTION 3

Which of the following technologies can be used to establish a federated data architecture capable of exposing
standardized data models while abstracting disparate data sources? Select the correct answer. 

A. XML Schema 

B. XQuery 

C. WS-BPEL 

D. WS-Federation 

Correct Answer: A 

 

QUESTION 4

Which of the following exist as XML documents? SELECT ALL THAT APPLY 

A. WSDL definition 

B. XSLT stylesheet 

C. XML schema 
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D. WS-Policy definition 

Correct Answer: ABCD 

 

QUESTION 5

Each WSDL __________________ can define a set of __________________ and/or __________________ messages
to express data exchange requirements. Select the correct answer. 

A. operation, type, RPC 

B. operation, input, output 

C. function, type, RPC 

D. function, operation, type 

Correct Answer: B 
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